AXOR

ZH / FAPFM / AENRA 02 AXOR One 280 2jet
EN / Instructions for use / Assembly instructions 03 48492XX7

INSTALLATION



ZH 02

A REHI5

A\ FER RS ENTRIZ 0, KA EFE.

AN EFRBRARVFEREA DEMESZA.

A\ KIS BFFFAT LA SR L T AL, Ak
HAHEEY @

RERT

/ REBBIRET R LR EIZHIRE. KRR
FINFTIEHIR E R EIRE.

/ EEMRIGIRIEEEIREHEITR
0.

/ IBETEHERIMITHRENE.

/ BEERNT WA RETT RREMNEER: 72
BME P, MEREES T (TREAEE
WER) BHEHNESEATmREEREEL

B A

S

EEREE Z BRI
[%\ xhznsnid
marEE znEn
Ogq, BREELEN 0
= ANl i |

WA RSN ELR

A TIMA R KSR TS CB 28378-2019H
BRI EE R EF L) IR AR FR
FEtRIN TR

ME

FAIER 2.

o ESit) 14% 24K 3%
i:};;;; N TR <45 <60 <75

I+ 5: EEli O,() MPa r—‘—| \+0-; <4 < <0
HeETIEER: 0,15-0,4 MPa FIEARER =45 =00 (;1? H54)
(1 MPa = 10 bar = 147 PS) TS
HACRE: BAh60°C  EEFITEERIF REIKRER L= R B2 Fin
MBS 70°C /4 55p  IRBIKEEFERIVE)
ZFE e AR KIET
E] B A
/ TERSk e ER 7 TS5 /e ES I s BBl R Eh I
D ¥ |

/ B EURK ESGEREE S

/ BB

/ 1EX ERKE, TERREREK

/ R ERTER

/ AETRIEAR S / OREES N

BB ESKE
BEINKE

/ EMELIRIEE

L Em (BREn L

/ HERKAESS /P S bR

BRIl S RS Tl
eIy Y |



ASAFETY NOTES

A\ Gloves should be worn during installation to prevent
crushing and cutting injuries.

A\ The product may only be used for bathing, hygienic
and body cleaning purposes.

A\ The arm of the shower head is intended only to hold
the shower head. Do not load it down with other
objects!

INSTALLATION

/ Prior to installation, inspect the product for transport

INSTRUCTIONS

damages. After it has been installed, no transport or
surface damage will be honoured.

/ The pipes and the fixture must be installed, flushed and
tested as per the applicable standards.

/ The plumbing codes applicable in the respective coun-
tries must be observed.

/ During installation of the product by qualified trained
personnel, make sure that the entire fastening surface
is even and smooth (no profruding seams or file offsef),
that the finish of the wall is suitable to apply the product
and has no weak points.

TECHNICAL DATA

Operating pressure: max. 0,6 MPa
Recommended operating pressure: 0,15-0,4 MPa
(1 MPa =10 bar =147 PSI)

max. 60°C
70°C / 4 min

The product is exclusively designed for drinking water!

Hot water temperature:
Thermal disinfection:

FAULT CAUSE

03

SYMBOL DESCRIPTION

Do not use silicone containing acefic acid!

[% DIMENSIONS (see page 4

FLOW DIAGRAM |[see page )

@@@ SPARE PARTS (see page ]

@ CLEANING (see page [

WATER EFFICIENCY GRADES FOR
SHOWERS

The water efficiency grades of Hansgrohe's showers meet
the requirements of GB 28378-2019 "Minimum allowable
values of water efficiency and water efficency grades

for showers". The indexes of water efficency grades for
showers are as follows:

FLOW RATE
TYPE GRADE 1 GRADE 2 GRADE 3
Hand-held <45 <6.0 <75
shower
Fixed shower <4.5 <6.0 <90
head

(In L/min)

(Note: For the actual water efficiency grade of the pur-
chased product, please refer to the water efficiency grade
indicated on the product or package.)

REMEDY

/ Head shower extremely leaky

/ Head shower soiled / scaled

/ Clean / descale head shower
(see page [0)

/ Shower drips continuously

/" Shut-off unit damaged

/ Exchange shut-off unit

/ Water drips from showerhead a short
time after the valve is closed

/ Normal clearing of pipes

/ Sprays not operating properly

/ Flow pressure too low

/ Check water pressure (If a pump has
been installed check to see if the pump
is working.

/ Increase water pressure

/ Filters are dirty

/ Clean filiers [see page )

/ Head shower soiled / scaled

=

ASSEMBLY [see page A =

/ Clean / descale head shower
[see page I



S, 04




Cnmummnin o
_ __ (M6xeQ)
fmln min.f
o +mox mox*
(MEX60 2 min.) (I
(M6x80 2 max.) (M6x80)

(M6x60 2 min))
(MGXSO A max.)




S 06




0,60
0,55
0,50
0,45
0,40
0,35
0,30
0,25
0,20
0,15
0,10
0,05
0,00

MPa

6,0
5,5
5,0
4,5
4,0
35
3,0
2,5
2,0
15
1,0
0,5
0,0

Q=Il/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec O

0,1 0,2

0,5

bar




08

< 0041 P2

0L T‘ o0oll ————p

060¢

v
:

—»D 674
¢— @ 280—P

> %
N
Yo}
S P €¢-0¢
™
—» ST
4
~ G
v v
<lEl P




ZH / AR RERIFHEEONER, SNWEEZH
redivg

EN / Importantl Components with damaged surfaces
must be exchanged, otherwise there could be an
injury danger.




@ 10

TR BTSRRI

MAR AR K, BERX R, BEf, BRG, iR,

ABRMNASERBRGLEMEIIFEIRR, LUSN @It

AT AER TR HIATHER.

AT R IR A H IS | R BIRIF R, I

FRMEEmIEEE X NE

ERFXETE I @Y, RN _ESTUER:

/ REERBLEREIRRERATAM REET.

/ ARVHMERASHEEE NE REAMM UFE
BAREET, AR EETIRGL mREISR™
ES:NEnt)

/ EHERBVEETIIAERE R TER.

/ RRFRFAH U LESTRAER.

/ ARITEREEMEFRNEELANSE OF
EEREENR BREIEAZ M.

/ SFWETEENRIEENR 2R

/ PERRESTEETN AR ENERRE, R ARVEE
FIBVERB BT EE.

/ TERRBYETE ATAPA K G,

/ AARVPRIE ST RS E TS IE R s L, R
DRSS it NONHTAR HE P qnRYFF O B8 D AN 42 BR R
ERIRE. BIRESTBHEN L, BRNAH
TR

/ EEZ R IRRBIE AR, UIRERREKE
BUMR ) (FEEF).

/ ARFERZEAB, SRERE M

BEHA

ABE, JEATK, ARAIR, ReA5H, BK, BIBAZK, $EFHAY
R MM SRR,

LteRb: SRR A/ OB B AR R AT A
EEEF ma N A NMSEREAFEF A m, FIa0A]
BERTARERTE RS NIE L SEBIRIT T~ m.
FELRHGNRAXSEREENAREEREX
B9 5.

REBRAHBELBRNER, W=
ERGNER.

NEHE B TR A IS B E RN E AR QB ™~
REEEZA.

BR

Axor[A B FARIE, % B HETRME. WRITBREEA
HINEREE, Axorf RFDHTTERAIE MIEFAMFE
Jl—l\_;nN NaNSgrone Com cn/service/ producergugrgnies
RERENFEBERAEHNERT. ™MRIENINRE
KEZOEEMERH BN

St

&

QuickClean

BT QuickClean, FITE 5 Ih8E, EAIEM L _EBI7KIR,
REERIERRRNA].



http://www.hansgrohe.com.cn/service/producer-quarantee

CLEANING RECOMMENDATION FOR
AXOR PRODUCTS

Today, modern sanitary and kitchen tapware, showers,
accessories, washstands, sinks, tubs and radiators consist
of very different materials to comply with the needs of the
market with regard to design and functionality.

To avoid damage and reclamations, it is necessary to
consider cerfain criteria when cleaning.

WITH REGARD TO CARING FOR THE
AXOR PRODUCTS, THE FOLLOWING
MUST IN PRINCIPLE BE HEEDED:

/ Only use cleaning material which is explicitly provided
for this type of application.

/ Never use cleaning materials, which contain hydro-
chloric acid, formic acid, concentrated caustic soda,
chlorine pale lye or acetic acid, as they cause consider-
able damage.

/ Phosphorus acidic cleaners are only conditionally ap-
plicable.

/ Mixing cleaning agents is not permitted, generally.

/ Never use cleaning materials or appliances with an
abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.

/ The safety instructions of the cleaning agent manufactur-
ers must be strictly followed.

/ Cleaning has to be carried out with a specified cleaner
dosage, contact time, object-related and adapted to
the needs.

/ The building up of calcifications has to be removed by
cleaning regulary.

/ When using spray cleaners, spray the cleaning solution
onto a soft cloth or sponge, never directly onto the Axor
products, as the atomised spray could enter openings
and gaps in the Axor products and cause damage.

11 @

/ After cleaning rinse thoroughly with clean water to
remove any cleaner residue.

/ The use of steam cleaners is not permitted. The high
temperatures can damage the products.

IMPORTANT

Residues of toiletries such as liquid soaps, shampoos and
shower gels, hair dyes, perfumes, aftershave and nail
varnish can also cause damage.

Here too: Carefully rinse with water after use to remove
residues.

Likewise, do not store any cleaning agents or chemicals
under the products, for example in a vanity unit, as the
vapours may damage the products.

The damage of already damaged surfaces will deteriorate
under the effect of the cleansers.

COMPONENTS WITH
DAMAGED SURFACES MUST BE
EXCHANGED, OTHERWISE THERE

COULD BE AN INJURY DANGER.

Damage caused by improper treatment will not be covered
by our guarantee.

WARRANTY

Axor guarantees to the consumer that this product is free of
production faults. If any defect is detected within the war-
ranty period, Axor will remedy this defect free of charge.
You will find the conditions and details of this guarantee

e} | Nansgrone . con.crn/selvice DfOOUCeFGUOfOﬂTea

Please contact your contracting party to claim your rights
under this guarantee. This guarantee does not affect the
customer’s rights under the respective national legislation.

QUICKCLEAN

The QuickClean cleaning function only needs a small
manual rub over o remove the lime scale from the spray

channels.



http://www.hansgrohe.com.cn/service/producer-quarantee

AXXOR

93463000

/(AXW,\S}

C $8123000
o D (10x1,5)
93462000
o |
0
98129000 ,
(14x2)
93399000
120x2,5
(120x2,5] (M6x80)
(M6x60]

XX = B/ Colors
00 = Chrome Plated

14 = Brushed Bronze

25 = Brushed Gold-Optic
30 = Polished Redgold

31 = Brushed Redgold

33 = Polished Black Chrome
34 = Brushed Black

67 = Matt Black

70 = Matt White

80 = Stainless Steel Optic
82 = Brushed Nickel

Q5 = Brushed Brass

Q9 = Polished Gold-Optic

AXOR / Hansgrohe SE
AuestraPe 5-9

77761 Schiltach
Deutschland

info@axor-design.com

axor-design.com

(M5x90)

93966XX0

92907000

(33x2,5)
92137000
[M6x12)

AN
98432000——C
(45x2,5) g

97735000m’_\93%7ooo
B———98119000
13968000 ,
(8 I/min)
94463000
(12 V/min)

11/2024
9.07830.51



	中文
	English

